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(W EAER BT ES— 70,000 20,000
(2) FERTHE 1 B (THXZER) 42,000 15,000 39,000 70,000
(3) FEMHHE I B (43R &) 194,000 10,000 5,000 108,000 5,000 198,000
(4) FFEMBHE MR (13X &) 240,000 10,000 5,000 72,000 10,000 132,000
(B)RERTIREEERFET R 100,000 20,000 10,000 60,000 25,000 122,000
(6) RSEETREEMGETES
(NEHNGREEZLERES 198,000 16,000 20,000 100,000 70,000 150,000
(8) SRR EESHE EFNGHHER
(9) ARFEXIFLVI-EFEEERER 127,000 16,000 10,000 20,000 45,000
(10 RIFEE T+ O—TvTHHER 30,000 13,000 32,000 10,000
(1) EERE R & B G BHER ALY 120,000 53,000 10,000 45,000 45,000
(12) A-N"-tYavEE 24,000
(13) e -4 - B HE IR E Z 70,000
(18) KEX BT+ 4-BRIHE 150,000 6,000 30,000 60,000
(15) B ISTE WY —E R BHEIRE 100,000 100,000 1,000 3,000
(16) thig @ IFRo M-I R N ERTHE 418,000 16,000 20,000 70,000 225,000
UNEEFEZER 300,000
(1) FISEBHEEEHERER 60,000
(19) i EaEREE 4 —XIEEES 80,000 1,000 1,000 3,000
(2005 7IFTAVNEESR 20,000 1,000 1,000 3,000
QNEMNAVEHBEETRIEZER 25,000
(22) RERFI-T 14— 4-BRIHERE 59,000 14,000
() KREMEKZER
(24) £ ERHERIERES
(25) (#M) BLERBHLOEBIFIEZEES 10,000
(260) EHRRE 4,005,510 333,318 639,918 119,136

&t 4,005,510 333,318 639,918| 2,403,000 114,000 171,000 0 87,000 340,000 402,000| 1,185,136
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(M FE4T1ERELE TS F— 100,000 1,000 191,000 4,000
(2) FrEBHHE 1 M (TR ) 196,000 362,000 A 2,000
(3) FEFEHHE T B (43X X 5R) 102,000 5,000 652,000 98,000
(4) FERBHE B (13X X 55) 191,000 5,000 705,000 A 105,000
B)RIGEEEEEERFEE S 265,000 55,000 657,000 593,000
(6)RiFEEEEEREHER 0 0
(NEFREREERERES 125,000 2,000 1,000 682,000 318,000
(8) Bkt EE A ERFFIICHHES 0 0
(9) ARFEXIFLVI-EFEEERER 45,000 1,000 1,000 265,000 25,000
(10 RIFEE T+ O—TvTHHER 100,000 10,000 195,000 A 45,000
(1) KEERIERE B B HHEREANY 42,000 1,000 1,000 317,000 153,000
(12) 2-N-t'vBE 105,000 129,000 600
(13) BB -4 - BRFHEIREF A 70,000 A 70,000
(18) REXIEBI-T 11— BRHE 101,000 10,000 357,000 A 107,000
(15) EBERIGTE N4 —FRAHE B 15,000 1,000 220,000] A 220,000
(16) #ulg @ IEry M I- IR E B THE 245,000 5,000 1,000 1,000,000 0
UNEEFHERES 300,000] A 300,000
(1) BIEREEEETEERES 60,000 A 60,000
(1) M AEXIEL Y —XIEEER 85,000 A 85,000
QO TFIATAVNERSR 25,000 A 25,000
QUEANEEEEREEES 25,000 A 25,000
(22) KE R EKI-T 44— ERHHEIRE 73,000 A 73,000
(B KERKREER 0 0
CHETR#HEXEEZESR 0 0
(25) (F) BESBEOBEEAIEES 10,000 A 10,000
(20)EBRRE 5097,882] A 5,097,882
i 1,632,000 65.000 0 35,000 11,477,882 A 5,033,282
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(1) ¥ - UE R RAEH
() REHRRABRBHER
(B) [EHEBHIAN—T7VTHES 100,000 40,000 10,000 40,000
(M) RERRERBE 80,000 10,000 10,000 40,000
B EhLhiBEEERER 156,000
(6)IXHLyhRBEE - THIRESE 61,200 113,400
(N EHLLHEREBTRESR 50,000 1,000 5,000 5,000
(8)HEBEES 120,000 5,000 5,000
(9)EBHERHRE 2,505,730 208,514 400,314 74,528
Hi 2,505,730 208,514 400,314 506,000 0 112,200 0 10,000 0 143,400 154,528
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2015 EREHE T T — gfﬁﬂﬂ T - ] = TE
HEFL |GINELE|ZERMNE|REEE| WHMEE [BEERE|sxtsmas| HERE |EEABAB|MRIEXE| HEH
(DN EHETBEELEE 144,000 2,000 3,000 5,000
(2) EH-EBUEATHLHRERS
() BHERHRE 274,350 22,830 43,830 8,160
Hi 274,350 22,830 43,830 144,000 0 2,000 3,000 5,000 0 0 8,160
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HEFL |GHNELE|ZERMNE|REEE| WHMEE [BEERE|sxtsmas HERE |EEABAB|MRIEAXE| SEH
() #BEEAO LS RFIT- THEE B4 1,250,520 411,600
(2) R—LR—CORFEE
(B)N\UTLYMER R UEL
(M E£ESARREFTIR—Y 50,000 40,000
(5)Y=YlI-h—-T-RBREE 4EEH 4,000 500 2,000 31,000
(6)BHBRRE 457,250 38,050 73,050 13,600
Hi 457,250 38,050 73,050 4,000 0| 1,301,020 0 2,000 0 482,600 13,600
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(1) ¥ERIPEE - L E 1% RAEER 0 0
)BERRABRHES 0 0
@) IEhLaHora—7 v HES 42,000 232,000 68,000
() RERREHEE 140,000 A 15,000
B EHLubltBEEEERZES 156,000 A 156,000
(6) I EbtiuhBBEEE - THRES 720,850 7,095 902,545 2,057,455
DIEHELHEKREETEZES 18,000 79,000 A 79,000
(8)MIBZESR 29,000 159,000 A 159,000
Q) EHARE 3,189,086] A 3,189,086
it 89,000 0 0 0 0 720,850 0 7,095 4857631] A 1472631
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(1) MrE&ERHETEILEE 475,000 20,000 1,000 650,000 210,000
(2) R fBULBATHHERS 210,000 210,000 A 210,000
QB)EHARE 349,170 A 349,170
it 475,000 20,000 0 0 210,000 0 0 1,000 1,209,170 A 349,170
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(1) A DO RFIT - HEF A 1,662,120] A 1,592,120
(2) h—LR—C DR EE 63,000 2,000 65,000 A 55,000
(3) I ITLYMER R UE 0 0
L) EREZEASRETYR—Y 90,000 A 90,000
(B)Y=Yxl)-h—-T-iteB¥ 4BER 2,500 40,000 A 30,000
(6)EBHARE 581,950 A 581,950
it 2,500 0 0 0 0 63,000 0 2,000 2,439,070] A 2,349,070
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(RARER-BEEFEES 64,000
(2) TR DR
Q) HEXERH 2,000
(4)FHBEEE RIRESSM 60,000
(5) AR E IR EETHED S M 51,000
(6) SR & & B R IHE 15,000 117,000
(7) BEFHETHE (REWR. S ETR) 69,000 117,000
(8) SR ARET LR
(DHAERBOBE - HERE 49,000 43,000 60,000
(10EHREE 914,500 76,100 146,100 27,200
&t 914,500 76,100 146,100 261,000 49,000 0 43,000 0 60,000 261,200
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& 0 0 0 0 0 0 0 0 0 0
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(1R ZER-HEEZRES 13,000 77,000 A 77,000
(2) FHmHERE D ERE 0 0
() EXIESE 2,000 A 2,000
(4)FFmEXEZ RIGESSN 60,000 A 60,000
(5) FHEAEIEEEPIEDNSM 51,000 A 51,000
(6) FHERAEEERME 448,000 580,000 149,000
(7) HEHETHE (RER. SR 306,000 492,000 188,000
(8) IR ERETIVEE 0 0
(Q) HEEMIBDEE 5B TS 152,000 A 142,000
(10EHRERE 1,163,900] A 1,163,900
it 767,000 0 0 0 0 2,577,900 A 1,158,900
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0 9,000,000
0 45,000
0 0
E 0 0 0 0 0 0 9,045,000
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) BIRFEBIRL - BLONFAT

(12) () 2B T ERARASER

20,000
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(1)REEOET RTET

(1) RBLAFORT ETET

(16)BeeAH A RS

30,000

(17) B RE K- B L DEE - 7

60,000

10,000

10,000

(18) R X P EHHHE R

65,000

2,000

(1) PERBEER

100,000

24,000

100,000

22,000

Q20) IRA/XERERSR

QNEHEEEBER

(22) B HEREE

55,553

106,653

19,856
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(1) ZEHrsEtEtEIr— 700,000 700,000 A 700,000
(2) X Ep i B iR~ 7 #HEEE ST S — FEHE = 140,000 140,000 A 140,000
() X EEEEFHICHES 140,000 140,000 A 140,000
(4) X E#EfSR L= (@R D) 350,000 350,000 A 350,000
(5) ZE M RIEEE(SBEE D) 895,500 895,500 A 895,500
(6)XEHBEEHEX(BEEFHES) 700,000 700,000 A 700,000
(7 EXHBERRENEELI— 210,000 210,000 A 210,000
(8) XL HBEHZESZHES 280,000 280,000 A 280,000
QMERTHR -EHERARSE 5,000 A 5,000
(10)RE- =B DRI EIRKE 0 0
) AR FEBIRL - BELARFIT 0 0
12)(RFF) B TEBME RS ER 22,000 A 22,000
(13) BUkIRE 100,000 A 100,000
(14)IRIBEDFEIT FEITET 0 0
(15)LERBOHRT RTET 0 0
(16)BiReaBA = REH 30,000 A 30,000
A7) BEARER-#EALOEE - A 20,000 1,000 106,000 A 106,000
(18) X X EEEtHHESR 67,000 A 67,000
19) ERFEESR 316,000 A 316,000
(0 ARHBXEREZES 0 0
QN EHEETERERT 0 0
2)EHRRE 849,647 A 849,647

it 20,000 0 0 3,415,500 0 1,000 4911,147] A 4911147
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(1) £EH— BB
(2) ERARZERAEHRE
(B)NEXEEM B EHAER
(MHHEEUTERRERE
(B)BHRREE 45,725 3,805 7,305 1,360

st 45,725 3,805 7,305 0 0 0 0 0 1,360
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POVSEERRIE BEFL [RNBEREE R RESER] WER [BEERE|#ereeit] ARAR [ERCHAR|DRNAR] ARH

(M EBROHFEERS 30,000 224,000 200,000 600,000 796,024
) ERBEDERE 274,350 22,830 43,830
B RIHEBER
(O = 200,000 10,000 28,000
(5)BHE% 200,000 12,000 10,000 23,000
(B)ERISRRE 59,000 10,000
(7)BR2EBEEAS 40,000 100,000
(B)MEMEER-EBEREREHE 50,000
(9)REBEE-ZOM

&t 274,350 22,830 43,830| 379,000 0| 436,000 0| 200,000 o| 730000 847,024

a & 9,145000]  761,000] 1,461,000 3977000 114000 2135220] 103000  452000] 340000] 1,872,000] 2512864
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(1) 2E#H—EEHHER 0 151,000
(2) ERAER ZER* KB IE 0 91,000
(B)NMEXIEEM B EEER 0 0
(4) R T ERIREGXE 0 0
B)EHARE 58,195 A 58,195
it 0 0 0 0 0 0 0 0 0 0 58,195 183,805
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(1) EBHEOHFEESE 20,000 10,000 320,000 156,000 50,000 2,406,024] A 2,406,024
(2)ERBEDEE 341,010 A 341,010
(B)RETEHRT 575,000 575,000 A 575,000
M = 238,000 A 238,000
(5)EER 245,000 A 245,000
B)FRIERSE 69,000 A 69,000
(7):EBFEEBEES 140,000 A 140,000
B)HEFESR -BHRAESELE 50,000 A 50,000
(B EE-ZDth 9,000,000 460,000 100,000 9,560,000 8,440,000
&t 9,000,000 20,000 10,000 0 320,000 0 0 1,191,000 0 150,000 13,624,034 4,375,966
& &t 9,020,000 2,985,500 95,000 0 320,000 0 3,625,500 1,974,850 65,000 196,095 41,155,029] A 1,669,429




